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I HNLIPEN,
Ma: M0
CHel: MEOIA FAALY EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OUEdEE & 2= 54,156
JlE22 161,9002 x3H 100! 48,570
ANBEOI2ARLEZ) 5,586
O12001ASAI 2HEEX S 20,682
22 78,8803 13 %183 14,436
SaERY 78,8803 x 1«52 4,102
ABE (O 22E2)
18,638,000& *11.5% 2,144
201 Let23H| 30,000 30,000
01 At 2elt] 30,000 30,000
OO0t SEUA 2Y it Al 29 30,000
206 =8l 36,000 36,000
01 =Yl 36,000 36,000
Oz0t= SEA 2I=E Y 36,000
401 A& B2 20HY| 220,000 220,000
01 Al&HI 218,416 218,416
OMEDIR HelAtd
220,000,000 *99. 28% 218,416
03 Al CHYI 1,584 1,684 0
O HelAte
220,000,000& *0.72% 1,584
NRASAH L35 391,158 330,560 60,598
= 36,670
& 31,829
Al 322,659
NEASAE XI& 219,678 199,763 19,910
NHESAHE 22 213,178 193,263 19,910
101 2124 d| 184,978 131,578 53,400
M IIZINZ2 2SS Es 184,978 131,578 53,400
OdEHER 2124d| 98,7%
A= Py 2,716,970&*11& 29,887
CARIE(1Y) 2,241,470« 114 & 24,657
- Bl (2H) 2,011,358 =2+ 110 & 44,250
O&&=3 9,99
MN=E(1Y) 3,548
- EIRA(2Y) 3,225,450 +2H 6,451
OSAX M2 Ji&d| 54,257
s 70,0002+ 110 26 4,620
- ASEXHI(HEH ) 250,000 =113 2,750
HZEEH(A22E)
180,000& =111 & 1,980
SIS XH|(EY)
175,0002 x 110 & #4Y 7,700




S ARIASA
Ho: AN S
=l AESAH X2 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
- G2 A (5Y) 2,942
-HEZRLE 10,028
HENUB(E, =4 12,777
- Mg A 140,000 x4 B+ 1142 6,160
sSxZeIE 500,000 42 2,000
CHRI &=t 50,0002 x6Z* 114 3,300
Oz B3| 60,0002 62114 2 3,960
OAU S E 2 (XH2 S AHIE)
156,241,000& *11.5% 17,968
201 2E2Z 26,200 42,340 A16,140
o1 A=zl 16,200 27,840 AT1,640
OgurrgY| 1,000,00021* 121 2 12,000
OBLI|, BIIBHI| Y2
150,000 * 1290 & 1,800
O=g =2 oiAY
8,000 5«52 120 & 2,400
2 22| 10,000 10,000 0
ORFEFR| 3,000
SERIEEN] 1,000
08822 3,000
OAZEHI S| 1,000
OEHOIX 29 2 22| 2,000
206 =4I 2,000 6,000 A4,000
o1 W=l 2,000 6,000 4,000
Ool%tE, YWSE 7Y 2,000
TE=A 22 6,500 6,500 0
201 ZEt2 ] 5,000 5,000
01 ArR2teltl 5,000 5,000
ORAZAL 222 5,000
202 04t 1,500 1,500
01 2LHOLI 1,500 1,500
ONAZAL 2227 1,500
NASAH 2F 40,940 0 40,940
AESAH 2SS XA 40,940 0 40,940
201 22 26,140 0 26,140
o1 A=zl 11,640 0 11,640
O=goARE BaLg
70,0002« 13 43| 3,640
OOIIUN ELS K
4,0002*2,000% 8,000
03 A2 G| 14,500 0 14,500
ORAZANS & S BAIR2Y 4,500
ORRAZAF 3t 2 10,000




AQIASA
KN SA 2435t
ANESA 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 4,000 4,000
01 MHZH| 4,000 4,000
ONFSANEZIH 2H=35 2 4,000
301 LEtE N = 10,800 10,800
14 DBt 2 a3 10,800 10,800
OXESAHAL 2HIE2a=
10,0002 90+ 122 10,800
TASAL 2S(EX) 130,540 58,000 72,540
= 36,670
= 31,829
Al 62,041
N SA 283t RNJ(EX) 130,540 58,000 72,540
= 36,670
= 31,829
Al 62,041
101 @124H| 66,322 0 66,322
= 33, 161
S 13,265
Al 19,8%
M OIRINZZ2NSE S 66,322 0 66,322
OXESAAF ZOUIOIE X2 4 66,322
- 20Ul 1A
2,060, 7402 «2H 122 49,458
= 24,729
= 9,892
Al 14,837
-=ES 2,622,960 x2H 5,246
= 2,623
= 1,049
Al 1,574
=4I 140,000 x2&* 122 3,360
= 1,680
= 672
Al 1,008
SAZE 500,000 x2H 1,000
= 500
= 200
Al 300
Y= 500,000& x2H *23] 2,000
= 1,000
= 400
Al 600
-4l 2= 5,258




2H: ABAEY
mr: NRAZA 243
ool IEZA 2E(2X) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,629
=S 1,062
Al 1,577
201 2= 26,718 19,700 7,018
= 3,509
= 7,314
Al 15,895
02 S3=gHl 7,018 0 7,018
Od= S& NASMES It AMBlA X 7,018
= 3,509
= 1,404
Al 2,105
03 &A= 19,700 19,700 0
OXESAtHIE g4dst (2208 29) 19,700
== 5,910
Al 13,790
206 MH=HI 3,000 3,000 0
= 900
Al 2,100
01 MZH| 3,000 3,000 0
OXNESAHE 83t X2 (AAIXIEE) 3,000
= 900
Al 2,100
301 EtE NS 2,300 2,300 0
S 690
Al 1,610
14 JIEt2d = 2,300 2,300 0
OXHESAAL AHI24 =
10,0002 230 2,300
= 690
Al 1,610
307 gl2to| & 32,200 33,000 2800
=S 9,660
Al 22,540
02 QB AANEE R 32,200 33,000 A800
OXESAHHE 243t X (RFUHSAE
28 2¢) 25,000
< 7,500
Al 17,500
OOt XEE MssSat 29 4,500
= 1,350
Al 3,150
OslYlts IHESAH 28 2,700




2H: ABAEY
M THRSA 243
SRl KIREA 29(2X) (CHol: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= 810
Al 1,890
NES-DLE= 9,128,400 10,780,072 N 1,651,672
< 176,000
Al 8,952,400
KNS AL 22| 9,128,400 10,780,072 N 1,651,672
= 176,000
Al 8,952,400
AREPF0I=2AAI 22| (KA 8,952,400 9,867,872 N915,472
201 LEt2AH| 12,000 12,000 0
02 B22ZH| 12,000 12,000 0
OSEHBUSR2H ATEH KAEE 12,000
401 AIEHILE0HY] 7,577,900 8,210,100 AB632,200
01 Al&H| 7,520,830 8,156,008 AB635,178
oszsg 269,551
ts0tE2 ot A3 At
22,680 ,000& *98.92%% 22,436
AA02 ot AHISAH
47,250,000& *98.92% 46,740
JHEDIE otZ HHISAH
10,000,000 *98.92% 9,892
HIXOIS ot ZESAL
25,600 ,000& *98.92%% 25,324
JHMOFS o2 Hi=2 AH|Z2AF
11,500, 000& *98.92% 11,376
NETTERIETE TS
44.,100,000& *98.92% 43,624
JHAHDES OHY LA I AL
50,000,000 *98.92% 49,460
ZS0t2 o2 HHISAH
61,250,000& *99. 1% 60,699
OFH 326,580
- o002 o+ MHEES AL
25,000,000 *98.92%% 24,730
AFDIE o2 THEZE B A
30,000, 000& *98.92% 29,676
=02 ot oS T7ESAL
30,000,000 *98.92% 29,676
ADIS=0t2 ot HHISAL
30,000, 000& *98.92%% 29,676
L 2L02 O 2 BUIZA
40,000,000& *98.92% 39,568
HAHOIZ otZ HHISAH
80,000,000& *99. 1% 79,280
ohR0lS oY HTIBA
30,000, 000& *98.92%% 29,676




I HNLIPEN,
PSPLSENYN =) 1=,
S XS ALE 22 (S &S
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
- DEOES oHY HHIZ2AH
25,000,000 *98.92% 24,730
sx0l2 212 2% FHIBA
40,000,000 %98.9%% 39,568
O%=XH 247 528
O E 2 F HEESAH
25,000,0002! *98.92% 24,730
L E0IS 22 FHIBA
21,000,000 *98.92% 20,774
D02 ok BUIZA
70,000,000 *99. 1% 69,370
2012512 9 AZTA
28,800,0002! *98.92% 28,489
- X202 K2 HUHIZBAH
20,000,000 *98.92% 19,784
SE0IE oHZ EEZAF
10,500, 000& *98.92%% 10,387
UEOIS 012 HUIZM
7,000,000& 98.9% 6,925
=02 AYLZ EEZ2AL
10,500,000 *98.92% 10,387
MNEOIS3 2 & THEZEZAL
15,000, 000& *98.92%% 14,838
ZE0IS o2 THEEZAL
17,500,000 *98.92% 17,311
D202 JIEdIY X2 At
5,300, 000& *98.92% 5,243
- SS0IE o 0tAE SM2)|Z2AH
19,500, 000& *98.92%% 19,290
OssH 35,265
HS0l2 o1 HEH U BYITA
84,000,000& *99. 1% 83,244
CYENIZ 27 U WSR2 FHITA
73,600,000 *99. 1% 72,938
- RE0IS ot otAE LA Y A2 H
HIZ At 84,000,000&*99. 1% 83,244
S BHEHOIS JIEYIY A X2 A
40,000,000& *98.92% 39,568
EHs0tS otd LHZAl
63,000,000 *99. 1% 62,433
- B2A0S JEYY AXAIY
15,000, 000& *98.92% 14,838
OF=M®H 258,303
- 2S02 oH2 88 AXISAH
30,000,000 *98.92%% 29,676
BHE0IS OfAR TRTA|
26,500,000& *98.92% 26,214
AEOIS OFAZE A ZAF
41,000, 000& *98.92% 40,558
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=M ANSIASA
Ha: xepe
chel: XSOH Al 22

SA - ZB . 9(B) - NIRAD - BaS ol b A
- ZAE0t= o2 FHIZA
35,000,000 *98.92% 34,622
ATOIE OlAR ZEBA
66,000,000 %99. 1% 65,406
BSOS o2 JHISAL
11,500,000 *98.92%% 11,376
S=0t= or2d ZHIZA
11,000,000 *98.92% 10,882
CHXI0IS o+ Hi=2 ZM3A
16,000,000 *98.92% 15,828
A0S oH FHISA
24,000,000 %98.92% 23,741
O=Xd 283,007
A0S JY=Z OtAE ZHBA
45,000,000 %98.92% 44,514
2s0tE F etZ A= HHISAt
25,000,000 %98.92% 24,730
- 2E0IE o2 OtAE ZEBAL
38,000,000 *98.92% 37,590
- 402 o+ Hi=2 HUISA
50,000, 0002 %98.92% 49,460
- SEQS oY OFAR THEESA
45,000,000 %98.92% 44,514
A0S ot OtAE EEHBAL
53,000,000& *99. 1% 52,523
- AS02 o2 B2 HUISAL
30,000,000 *98.92% 29,676
oz 0,718
- SHANOLE o2 OtAE EEIAL
20,000,000 %98.92% 19,784
MEDIS 32 0tAZ LEISA
40,000, 0003 %98.92% 39,568
SUotE 2 =2 HHISA
20,000,000 %98.92% 19,784
SUI0S o2 =2 JUISAt
12,000,000 x98.92% 11,871
T20I2 o OtAE HLEIA
40,000, 0003 %98.92% 39,568
- =EOS o OtAE EEIA
18,000,000 *98.92%% 17,806
AEDE RUZ 0LAE LEZA}
30,000,000 %98.92% 29,676
AEQOIS o2 0tAE LEIA
30,000,000 *98.92% 29,676
LEONS 2 FHIZA
30,000,000 %98.92% 29,676
ZE0IS o2 =2 HUISAt
30,000,000 *98.92% 29,676




I HNLIPEN,
mm: qjoye
2l XISIHE AN 22 CEEREE
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
SH0IS ot SILEAZAL
34,000,0002! *98.92% 33,633
OiaHH 235,432
AMEDIE g HUIZSAF
40,000,000 *98.92% 39,568
SH0I2 otZ HHISAH
36,000,000 *98.92% 35,612
otCHOIS o+ =2 TH|Z2At
30,000,000 *x98.92% 29,676
2=S0Is ot =2 HHIZ2At
18,000, 000& *98.92%% 17,806
&30S XY HHIZ2A
21,000,0002! *98.92% 20,774
=02 o2 HHIZ2AH
10,000,000 *98.92% 9,892
AS0lE WYR FHIBA
48,000,000 *98.92% 47,482
CE=0I2 o2 HHISAH
35,000,0002 *98.92% 34,622
OAIOHH 275,407
2202 ot OFAE THEZAZAF
30,000, 000& *98.92%% 29,676
=S o AFZAL
30,000, 000& *98.92% 29,676
OlstOlsS ot OlAE MHEZR L MH|IZAH
61,500,000& *99. 1% 60,947
2E0t2 o2 =2 AH|Z2AL
19,800,000 *98.92%% 19,587
HsS0S ot OFAE THEZAZ AL
40,000, 0002 *98.92% 39,568
H=0IS ot2 tH=Z HHIZ2A}
25,500,000 *98.92% 25,225
ANDIS 012 HERTA
40,000,000 *98.92% 39,568
AEOIS o2 THERZAL
31,500, 000& *98.92% 31,160
OgH 217,280
TE0I2 o2 EHHIS A
33, 150,000 *98. 92%% 32,792
HS0H2 o1 FUIBM
19,500, 000& *98.92% 19,290
CRADIS o2 BHIZA
24,000,000 *98.92% 23,741
HIE0I=2 ot2 HHISAH
40,500,000 *98.92% 40,063
DHEDIS o2 HHISAH
36,000, 000& *98.92% 35,612
SH0IE o2 EHIZAE
36,500,000 *98.92% 36,106
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M AlRIASA
S Kone
S| XISGINE AL 22| (S &S
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
MB0tE 2F =H FUISA
10,000,000 *98.92% 9,892
HIE0tS o+ S2E L =228 AXI3A
20,000,000& *98.92% 19,784
O2&H 315,886
HEQIS 2H2 OtAE L EZBAL
19,500,000 *98.92% 19,290
- AID|0FS oY OtAE ELEIAL
17,000,000 *98.92% 16,817
- OHEOtE o2 2 JH| & OtA2 X
S A 25,000,000 *38.92% 24,730
JHAIOE o2 &= SE Y otAE I E
A 72,500,000 %99. 1% 71,848
TEOIS o2 OtAE ZHIAL
36,000,000 %98.92% 35,612
- AlS0tE ot == EHISAL
25,000,000 *38.92% 24,730
- QIE0tE 2F FH OtA2 ZEIA
9,000,000 *98.92% 8,903
HY0IE2 MEH 0tAE LEISA
40,000,000 98.92% 39,568
LHE0IS 32 FH OtAZ LEIA
15,000,000 x98.92% 14,838
CHE0IE o2 oA 2E 2 Jieye
Xl SA 40,200,000 98.92% 39,766
- AFEDIS oHd OtAE ELEIAL
20,000,000 x98.92% 19,784
OtrsH 267,084
- 2AM0IES ot ZEIAL
50,000,000 *98.92% 49,460
2S0t2 o2 OtAE ZHIAL
40,000,000 98.92% 39,568
ENEOrS o2 OlAR EZEZAL
50,000,000& *38.92% 49,460
-HE ADI0FS ot OtAE LEIAL
30,000,000 *98.92% 29,676
s70lS ot ZEIAt
30,000,000 x98.92% 29,676
-HA0E SEN Y2 ASZA
30,000,000 *38.92% 29,676
A0S ot OtAE EEZBA
40,000,000 *98.92% 39,568
OO0 269,659
NS0IE o2 HH4=2 AXIZ2Al
3,600,000 *98.92% 3,562
NS0tE2 L Z SELEHISA
9,000,000 *98.92% 8,903
U202 oF2 OtAE HLEZAL
10,000,000 *98.92% 9,892
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M AlRIASA
PSPLSENYN =) 1=,
2l XISIHE AN 22 CEEREE
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
PE0I= o2 HHIZAH
15,000,000 *98.92% 14,838
QEQIS 2 0|13 & XI2At
3,500,000 %98.9%% 3,463
elotsS AYUZ ST EADAL
45,000,000 *98.92% 44,514
HAOFS o2 EHIZAE
45,000, 000& *98.92% 44 514
=HE ok OFAE TIMR2D|ZAH
30,000,000 *98.92%% 29,676
2|05 ot OtAR EEHZAL
45,000,000 *98.92% 44,514
elorsS ord EAZAL
10,000,000 *98.92% 9,892
QEOIS o JIEAIY AXIZ2AH
7,000,0002%98.9%% 6,925
AA0LS O 2 HXIBA
49,500,000 *98.92% 48,966
e JEL: 178,464
A0 o2 AHHIZAE
40,500,000& *98.92% 40,063
ANROIS ot ZEIAH
60,000,000 *99. 1% 59,460
S30IS o2 EEZA
21,000,000 *98.92% 20,774
AAMOI2 2H A= HHIZAE
21,000,000 *98.92% 20,774
QA0S X2 SHEAZAL
8,000,000 *98.92% 7,914
CEBOIS B2 L AETA
29,800,000 *98.92% 29,479
O0ord™ 301,708
L OFR ol BIRIE TRBA
14,000, 000& *98.92%% 13,849
sS=0IS A X7 ZUHIZ2A
30,000, 000& *98.92% 29,676
HAHDOIS or2 HUISAH
48,000, 000& *98.92% 47,482
=2|0t2 o2 Hi=2 AH|2AL
35,000, 000& *98.92%% 34,622
SES0t2 =2 EHIZBAL
11,000, 000& *98.92% 10,882
SZ202 g™ HHIZ2A
20,000,000 *98.92% 19,784
202 2XE == JH|ISA
20,000, 000& *98.92%% 19,784
AH0I2EZ A4S ZUIBA
24.,000,0002! *98.92% 23,741
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=M ANSIASA
Ha: xepe
chel: XSOH Al 22

SA - B S (BH) - MISAY - B2 Ofl by A
A0S 2P HH HU|IZBAH
18,000,000 *98.92% 17,806
- HEOS BIA2 ZUISA
10,000,000 *98.92%% 9,892
AIXIDIS B2 AHISAH
10,000, 000& *98.92% 9,892
- otd Ols3l& 22X 8HH A-|Z2Al
40,000,000& *98.92% 39,568
- EHAI0E oH AY HH|ISAH
15,000,000 *98.92%% 14,838
BSOS 012 0jAR EREA
10,000, 000 & *98.92% 9,892
ObHHH 348,315
- AE0EE oFY AHIZBAE
60,000,000& *99. 1% 59,460
DH=0t2 == HHISAt
13,750, 000& *98.92%% 13,602
- SI|0I2 ot HHIZ At
77,500,000& *99. 1% 76,803
Hstit2 ord SEZA
21,500,000 *98.92% 21,268
- 2E0IS o2 HH|Z2AF
90,000,000 *99. 1% 89,190
A0S OlAR TETA
18,000,000 *98.92% 17,806
w0l 012 FHIBA
5,700,000& *98.92% 5,639
- 22012 o2 HH|Z2AF
25,500, 000& *98.92%% 25,225
G302 oH2 AHIZ2AH
13,750,000 *98. 9% 13,602
S 2012 oHd ZEAZAL
26,000,000 *98.92% 25,720
Oosss 76,169
- 6,95 ot QAR ML) |Z2AH
37,000, 000& *98.92% 36,601
1,88 ot OIAE SIMRI|SAH
40,000,000& *98.92% 39,568
oras 45,504
C2AE Ot HUIZBAF
26,000,000& *98.92% 25,720
O3S FAH U B4R EXBM
20,000,000 *98.92% 19,784
o32s 29,676
== OIS0t =2 AH|2AL
30,000, 000& *98.92%% 29,676
Ogs8s 274,297
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2A: AlBIASA
PSPLSENYN =) 1=,
S XS ALE 22 (S &S
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
- QF=2 ALK 2Y=XE 2le EX2A
30,000,000 *98.92% 29,676
- MEOIS oH2 OlAE MHEEZ2AF
27,000,000 *98.92%% 26,709
- SES AESL OlAE HEAZAL
60,000,000&*99. 1% 59,460
- SIRSO0HIE &2 OlAE HEEZA
30,000,000 *98.92% 29,676
St=2Z0t2 JYU=Z HH|IZSAL
100,000, 0002 *99. 1% 99,100
AHOIS 32 X2 HH|Z2Al
30,000, 000& *98.92%% 29,676
Oogfus 252,246
F0tE 242 HHIZ2AE
50,000, 000& *98.92% 49,460
- W=S0tsS ot Hij==2t Y| Z2AL
20,000, 000& *98.92%% 19,784
SH1E O OFAE RHEHZBAF
30,000,000 *98.92% 29,676
HAIOIS 012! 25 &XIBA
50,000, 000& *98.92% 49,460
FEDIS =2 HHIBAH
20,000, 000& *98.92%% 19,784
SXI0IS ord S8 AXIZ2At
40,000,000& *98.92% 39,568
THADOIS ot OfAE LAZAL
30,000,000 *x98.92% 29,676
SHNPTE AR0IS oHd E2AIY
15,000, 000& *98.92%% 14,838
OLESs 316,751
- OHEEHIOHIIE QF BT H|IZ A}
25,000,000 *98.92% 24,730
TE4E DSt S22 AXI3Al
30,000, 000& *98.92%% 29,676
- S0 A0S o2 OlAE EEZEAL
30,000, 000& *98.92% 29,676
T EPE o T LEAZA}
20,000,000 *98.92% 19,784
- Z2X0IE o SP2 ZHISAH
55,000,000 *99. 1% 54,505
CE13S 01202 AE FHIZA
30,000, 000& *98.92% 29,676
- EES13E 020t OfAE EEZAL
30,000,000 *98.92% 29,676
NS HE 2HIA
40,000,000 *98.92% 39,568
- 2X0IES "2 OtAE THEEZAL
60,000,000&*99. 1% 59,460
OXFMIAFS 2,000,000
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